Приложение.



Тесты для аспирантов.

Tест 1 

I.  Из каждой пары слов выберите существительное, стоящее в единственном числе.

1 a ) phenomena b) phenomenon 2 a) analyses b) analysis 3 a) criterion b) criteria 

4 a) theses b) thesis  5 a) nucleus b) nuclei  6 a) hypothesis b) hypotheses

II  Заполните пропуски словами, обозначающими "количество" или "степень" из предложенного списка.

То smoke or not to smoke ?

 The problem of smoking is ... 7 under discussion. Some people smoke, ... 8   

don't. ... 9 of those smoking wish to give it up, and a great... 10 heavy smokers 

often make ... 11 attempts before they give up either smoking or the attempts. It  

requires not a... 12 will power and ... 13 of determination. So only ... 14 succeed. 

And those... 15 say that they have felt so .. .16 better ever since. 



much b) a great deal c) many d) some e) few f) most g) several h) little

III Найдите английские эквиваленты русским модальным глаголам

То be a successful scientist one а) необходимо at the very least b) уметь to   ask questions.

A good experimenter вынужден be a jack of all trades.

To be a great scientist one  необязательно solve a great many problems.

 Most people а) способно question the uncertain, only few b) способно question the obvious.

An individual scientist а) может и не be highly moral. Scientific community as a whole b) должна to be.

IV Найдите в тексте шесть существительных со значением  “размер", "количество". 22  а), b), с), d), е), f).

Never before have the scope of research and the number of the people occupied in it increased as rapidly as they are doing today. The magnitude of certain projects and the size of some installations are often breath-taking, while the bulk of the information accumulated can hardly be even roughly estimated, let alone digested. And yet the extent to which processes occurring naturally can be controlled and regulated by man is very limited.



V. Выберите правильный ответ.

23. If this discovery… in the XVII century, it would not have been recognized by 

contemporary  scientists.

was  made   b) had made   c) would have made    d) had been made

24. Some people …easily…  by other people’s opinion.

a) are influencing   b) is influenced   c) are influenced   d) have influenced

25. He doesn’t appear …with the problem.

a) to concern   b) concern    c) to be concerned    d) having concerned

26. A few more functional elements, germanium perhaps .. a good candidate, may 

be discovered in the future.

a) having   b) is    c) having been    d) being

27. The history of last 30 years shows him …very well.

a) to have done   b) to do     c) to be done    d) was doing

28. No physicist untrained in biology would have ever solved the problem, …would a biologist, without a sound physics background.

either   b) so    c) neither    d) no

29. It has been suggested that an end …to the barbarous treatment of nature.

a) has put       b) should be put      c) will be put       d) is being put

VI. Заполните пропуски предложенными ниже словами.

Scientific attitude

What is the nature of the scientific attitude, the attitude of a man or woman who studies and …30 physics, biology, chemistry or any other …31. What are their special …32 of thinking or acting? What qualities do we usually expect them to …33?

To begin with, we expect a …34 scientist to be full of curiosity – he wants to find out how and why the …35 works. He usually directs his attention towards problems which have no …36 explanation. He is a good observer, …37, patient and objective.

He is to be highly imaginative since he often looks for …38 which are not only complex, but also …39.



possess�b) successful�c) applies�d) incomplete�e) science��f) accurate�g) methods�h) data�i) universe�j) satisfactory ���VII Употребите предложенные глаголы в требуемой форме.

Titanic Disaster.

Titanic Disaster is one of the worst maritime disasters in history. The British luxury liner Titanic (46,000 gross tons) of the White Star line, on its maiden voyage from Liverpool to New York City, .. .40 (strike) an iceberg about 153 km south of the Grand Banks of Newfoundland on April 14, 1912. Of the more than 2220 persons aboard, about 1513 died, .. .41 (include) the American millionaires John Jacob Astor, Benjamin Guggenheim, and  Isidor Straus. The ship ... 42 (proclaim) unsinkable because of its 16 watertight compartments, but the iceberg punctured five of them, one more than had been considered possible in any accident, and the Titanic ... 43 (sink) in less than three hours. Subsequent investigations found that the ship ...44 (steam) too fast in dangerous waters, that lifeboat space ... 45 (provide) for only about half of the passengers and crew, and that the Californian, close to the scene, ... 46 ( not come) to the rescue because its radio operator was off  duty and asleep. These findings led to many reforms, such as lifeboat space for every person on a ship, lifeboat drills, the maintenance of a full-time radio watch while at sea, and an international ice patrol.

The sinking of the Titanic ... 47 ( be) the subject of several books and films since then, but not until September 1985 was the actual wreck found and the area .. .48 (photograph), by a joint French-U.S. expedition, through the use of robot submersibles equipped with television cameras. In July 1986 the U.S. researchers explored the Titanic in the three-person Alvin submersible; they ... 49 (take) pictures of the interior, but recovered no artifacts. The following year a controversial French salvage effort retrieved dishes, jewels; currency, and other artifacts, which ... 50 (exhibit) in Paris in September 1987.

Тест 2 

I.Образуйте формы множественного числа cледующих существительных

1.   a) phenomenon  b) thesis   с) criterion  d) datum 

      е) hypothesis      f) radius   g) axis        h) analysis

II . Выберите слово, наиболее близкое по значению выделенному

2. The number of insect species is greater than that of all other animal species.

a) exceeds  b) equals   c) augments    d) predicts

3. A chance sample can often provide information about a large population.

a) prudent b) genuine  c) random   d) modified

4. Microprocessors, unlike computers, are programmed to complete defined tasks.

a) specific  b) different  c) several    d) similar

5. Since research studies have shown a relationship between cancer and   cigarette smoking, many people have cut down.

a) ceased smoking    b) become frightened 

c) decreased the number of cigarettes d) got sick

6. In order to be issued a passport, one must either present legal documents or call a witness to give evidence concerning one's identity.

 a) investigate       b) falsify     c) testify     d) evaluate

7. Americans have been criticized for placing too much emphasis on being on time.

a) activity   b) importance      c) bother    d) assistance

III  Найдите 4 существительных со значением "поток, течение"

8  а) b) с) d)

The language is perpetually in flux: it is a living stream, shifting, changing, receiving new strength, losing old forms. The current of time continuously brings about a fresh flow of words.

IV.Заполните пропуски подходящими по смыслу словами

"...9 is worth doing is worth doing well". ...10 said this originally was perfectly right. For ...11 and ...12 we come across upon something that is not done properly we feel annoyed no matter what it is: an ugly building, a tasteless dinner or inaccurate measurements.   ...13 would seem to agree with this, as far as ...14 else's work is concerned. But are we equally critical of ...15 done by ourselves?

a) everybody   b) somebody  c) everything    d) whatever

e) whenever     f) wherever   g) whoever

V.Заполните пропуски подходящими по смыслу глаголами 

Computer virus.

 A virus ...16 of a set of instructions that ...17 itself to other computer programs, and ...18 part of them. In most cases, the corrupted programs continue ...19 their intended functions but surreptitiously.... 20 the virus's instructions as well. A virus is usually.... 21 to execute when it is ....22 into a computer's memory. The virus .... 23 its host program .... 24 the viral code into, or "infect", any number of the programs and files .... 25 in the computer. The infection can then .... 26 itself to files and code on other computers. The replicating viruses often .... 27 until they.... 28 data. A virus may simply.... 29 a harmless joke or cryptic message....30 on a computer user's video monitor each time he .... 31 on his computer. A more damaging virus can .... 32 an extremely large computer system within a matter of minutes or hours.



a) instructs 		b) transfer   		c) cause    		d) designed 	

e) turns 		f) becomes		g) loaded		h) stored    

i) crash		j) execute		k) to perform 	I) attaches

m) consists		n) multiply		o) to copy		p) to appear

r) destroy

VI. Выберите правильный вариант ответа

33. Mendeleev's ....a periodic law of nature has entered his name into the history book of world science.

a) being established      b) having established c) having been established

34.They considered all water on the surface of this planet... by volcanic action. 

a) having liberated b) to be liberated   c) to have been liberated

35 .Molecular biology ... to dominate other sciences .

a) expects         b) is expected            c) is expecting

36. Such phenomena should ... as early as the 18 century.

a) know          b) have known          c) have been known

37. If the distance to the star...., its light power would be judged from its brightness.

a) is know  b) was known           c) were known

38. Newton suggested that the light... as a stream of particles.

a) is interpreted    b) be interpreted   c) was interpreted

39. The instruments were packed carefully lest they ... during transportation. 

a) will be damaged b) would be damaged     c) should be damaged

VII. Употребите глаголы в нужной форме

Tunguska event.

The remote site of the explosion ...40 (investigate) from 1927 to 1930 in expeditions ...41 (lead) by Leonid A.Kulik. Around the epicentre he ...42 (find) splintered trees ...43 (lie) radially for some 15 to 30 km; everything ...44 (devastate) and very little ...45 (grow) two decades after the event. Eyewitnesses who ...46 (observe) the event from a distance ...47 (speak) of a fireball lighting the horizon, ...48 (follow) by trembling ground and hot winds strong enough ...49 (throw) people down and ...50 (shake) buildings as in an earthquake.

�Тест 3  

I. Соотнесите корень латинского происхождения с его значением и его производным . Выпишите корневое слово и соответствующие буквы вашего выбора. 

1.

duc(t) 

fin(e)

flect, flex

liter

dict

mob, mot 

pend, pens

urb

ven(e)�a) hang

b) speak

move

d) lead

e) city

f) come

g) end 

h) bend

i) letter�a) preventive

b) motivation

c) suburbs

d) suspension

e) jurisdiction

f) flexible

g) education

h) illiterate 

i) infinite��II. Определите какое слово является лишним в ряду. Выпишите его. 

2. a) chronicles; chronometer; synchronize; chronology; chromosome

    b) dogma; dogged; dogmatism; paradox; orthodox

    c) diagram; telegram; geography; anagram; gram

    d) barometer; perimeter; isometric; meteorite; geometry

III. Соотнесите слово с его определением, обращая внимание на префиксы.

3. multilateral�a) combining of diverse elements into one entity��4. semiskilled�b) slow down��5. homogenize�c) having many sides or participants��6. peripheral�d) doing work requiring only limited training��7. synthesis�e) make uniform throughout��8. decelerate�f) of minor or secondary importance��IV. Заполните пропуски подходящими словами.

a) complement    b) compliment

Education should… 9 one’s natural abilities.

The dean will …10 the honor students for their high grades.

a) farther            b) further

I live …11 from campus than I used to.

This matter will require …12 study.

a) formally           b) formerly

…13, these proceedings were conducted more …14.

a) quiet              b) quite

The library wasn’t …15   …16 enough for the head librarian.

a) adapt             b) adopt

If you …17 a child, the family will need time to …18 to a new person.

a) thorough             b) through

The supervisors made a …19 inspection as they walked …20 the plant.       

IV. Поставьте глагол в соответствующую форму в страдательном залоге.

21. John Burton …( arrest) if he hadn't fled the country.

22. The books are certainly missing. They …(might steal).

23. The works of art have not been seen for decades. They …(must destroy) during the war.

24. The acrobats performed a dangerous trick. They …(could kill).

25. I bought a copy of Parade's End that …(sign) by the author in 1930.

26. Seven candidates …(interview) so far.

27. The test results …(analyse) at this very moment.

28. Everyone …(send) a copy of the agenda before next Monday's meeting.

29. “Those documents …(should not give) to the press”, said the minister. “My secretary made a mistake when he released them.”

30. These scales are supposed …(check) every month. 

V. Поставьте глагол в необходимую форму.

31. The technique allowed us …(obtain) results predicted by theory.

32. Unless immediately …(stop) the environmental pollution may become irreversible.

33. It was suggested that the atmospheric and temperature ranges of those planets…  (be) different from those of the Earth.

34. Some experiments prove that it is physically possible for the ground ice of Alaska …(form) by a process of segregation.

35. If the Earth … (be) stationary, the movement of the atmosphere would be controlled almost entirely by temperature differences 

36. The dean would rather that students … (make) appointments instead of dropping by.

37. The hypotheses which … (propose) agreed with the experimental observation.

38. When Professor Jones retires next month, he … (teach) for 45 years.

�VI. Заполните пробелы наиболее подходящими словами из предложенного выбора.

The Natural World.

Whenever we read about the natural world nowadays, it's generally to be … 39dire prediction about its imminent destruction. Some scientists go so …40 as to assert that from now on, the world can no longer be called «natural», insofar as future processes of weather, …41, and all the interactions of plant and animal life will no longer carry on in their time-honoured way, unaffected by …42. There will never be such a thing as ‘natural weather’ again, say such writers, only weather …43 by global warming. It is hard to know whether to believe such .prophets of doom, possibly because what they are saying seems too terrible to be…44. There are other equally influential scientists who argue that climate, for example, has changed many times over the …45, and that what we are expecting now may simply be part of an endless cycle of change, rather than a disaster on a global … 46. One cannot help wondering whether these attempts to wish the problem away simply underline the extent to which western industrialised countries are to blame for upsetting the world’s … 47. It is not our fault, they seem to be saying, because everything is all right. One certain … 48 which is chilling in its implications, is that there is no longer anywhere on the earth’s …49, whether in the depths of the oceans or in the polar wastes, which is not stained by polluted air or …50 with empty cans and bottles. Now we are having to come to terms with understanding just what that means, and it is far from easy.



39.�a) made�b) given�c) told�d) granted��40.�a) much�b) often�c) really�d) far��41.�a) change�b) atmosphere�c) climate�d) even��42.�a) beings�b) man�c) people�d) humans��43.�a) built�b) manufactured�c) affected�d) organised��44.�a) stopped�b) true�c) guessed�d) here��45.�a) top�b) again�c) centuries�d) world��46.�a) sense�b) form�c) scale�d) existence��47.�a) future�b) ecology�c) balance�d) population��48.�a) fact�b) must�c) fault�d) and��49.�a) planet�b) atmosphere�c) anywhere�d) surface��50.�a) even�b) recycled�c) littered�d) bothered���Тест 4

I. Соотнесите корень латинского происхождения с его значением и его производным.

1 firm�a) build�a) instructional��2 labor�b) first�b) confirm��3 rect�c) strong�c) elaborate ��4 stru(ct)�d) work�d) primary ��5 prim�e) straight�e) rectify--��П. Заполните пропуски в тексте словами в подходящей по контексту форме, образованными от предложенных справа.

SATELLITTES

Since the late 6..., thousands of artificial satellites have been put in

the Earth’s orbit. Many are now out of 7..., just scrap metal in 

space, which may be involved in 8... with useful satellites

Some satellites provide 9... information for weather forecasting

Others can measure 10 ... in the earth's crust which may indicate 

earthquake 11... in the near future. There are satellites which can

indicate the exact 12 ... of forest fires long before they could be

spotted by 13... on Earth. Some satellites have sensitive

photographic 14... which can show how well crops are growing

in the fields and make 15... of rivers and deserts. In the future, 

satellites, in the form of giant mirrors, could provide 16... for

cities and roads by reflecting the sun's rays onto Earth's nightside.�FIFTY 

ACT 

COLLIDE 

RELY 

MOVE 

ACTIVATE 

LOCATE 

OBSERVE 

EQUIP 

MEASURE 

ILLUMINATE

��Ш. Выберите правильную форму.

17. ... his colleagues opposition, he decided to continue his research. 

        	a) Although b) However   c) Despite   d) Owing to

18.... my car dates from 1981, yours is brand new.

a) Nevertheless b) In spite of c) Although d) Whereas

19. Tom is not suitable for the job. He's too old. ..., he isn't interested. 

       	a) Besides b) In addition to c) As well as d) And

20. ... there are no more questions to discuss, we can finish the meeting.

a) As b) Because c) So that d) Unless 

21.I did not support his view. ..., I disagreed strongly.

a) On the contrary b) Otherwise c) By contrast d) Conversely

IV. Употребите правильную форму глагола.

We regret (22) …(inform) you that your application has been unsuccessful.

We know him (23)... (object) to this style of research on previous occasions.

It (24).. .(announce) that the proposed new office block (25).. .(now not build) because of the current economic situation.

Pictures of the surface of the planet Venus (26)... (receive) yesterday from the space probe 'Explorer' which (27)... (launch) last year

No decision (28) ... (make) about any future appointments until all suitable candidates (29) ...(interview).

We expect an announcement (30)... (make) next week.

The problem seems (31)... (occur) during the night.

If we had paid our workers better, they (32)... (leave) the company.

The meeting has been going on for two hours, so they could (33)... (decide) by now.

My colleagues suggested that I (34) ... ( get) this job in a bank.

V. Заполните пропуски предложенными словами. a) everywhere b) each c) everyone d) every day e) everything f) every

35..... in this workshop has done an apprenticeship with an engineering company.

36. More than 400 machine tools are produced here ..., except Saturday.

37. ... production line runs continuously, for 24 hours.

38. ... eight hours a supervisor checks the level of output.

39. ... is maintained by our own team of fitters.

40. All the production is distributed to agents ... in Europe.

VI.Выберите подходящее слово из предложенного выбора.

a) fewer    b) less

41. There are ... exploited workers than there used to be.

                   	a) impossible b) impossibly

42. The problem appeared … ,

                    a) arose     b) rose

43. A discussion ... about the best way to pay.

                   	a) beside     b) besides

44. .. literature, we have to study history and philosophy.

                  	a) hard     b) hardly

45. I've ... learnt anything this year.

               	a) effective  b) efficient

46. The German telephone system is highly … .

�V. Заполните пропуски соответствующими предлогами.

47. Mary specializes ... designing theatres and concert halls.

48. This number refers ... the next page of the article.

49.1 count... nothing in this company, unfortunately.

50. Damage to the building resulted ... an unusually high wind.

КЛЮЧИ К ТЕСТАМ

ТЕСТ1

�1  b

b

a

b

a

a

a

d

f

c

g

h

b

e

e

a

a) must   b) be able 

has to

need not

a) can  b) can

a) may not  b) ought to

a) scope b) number c) magnitude d) size e) bulk f) extent

d

c

c

d

a

c

b

c

e

g

a

b

I

j

f

h

d

struck

including

had been proclaimed

sank

had been steaming

had been provided

had not come

has been

photographed

took

were exhibited

�ТЕСТ 2

�a) phenomena  b) theses  c) criteria  d) data  e) hypotheses f) radii g) axes h) analyses

�a

c

a

c

c

b

�a) flux  b) stream  c) current  d) flow

�d

g

e или f

e или f

a

b

c

m

l

f

k или j

j или  k

d

g

a

o

h

b

n

r

c

p

e

i

b

c

b

c

c

b

c

�was investigated

led

found

lying

had been devastated или was devastated

was growing

had observed

spoke

followed

to throw

(to) shake

��ТЕСТ 3

�duct d) g)

    fin g) i)

flect h) f)

liter i) h)

dict b) e

mob c) b)

pend a) d)

urb e) c)

ven f) a)

�a)chromosome  b) dogged c) gram  d) meteorite

�c

d

e

f

a

b

a

b

a

 b

b

a

b

a

b

a

a

b

�would have been arrested

might have been stolen

must have been destroyed

could have been killed

had been signed

have been interviewed

are being analyzed

will have been sent

should not have been given

to be checked

to obtain

stopped

(should) be 

to have been formed

were

made

were proposed

will have taught  или will have been teaching

�b

d

c

b

b

b

c

c

a

d

c

c

�ТЕСТ 4

�1 c) b)

d) c)

e) e)

a) a)

b) d)

fifties

action

collisions

reliable

movements

activity

location

observers

equipment

measurements

illumination

�c

d

a

a

a

�to inform

to have objected

has been announced

will not be built

were received

was launched

will be made

have been interviewed

to be made

to have occured

wouldn’t have left

could have decided

( should) get

�c

d

b

f

e

a

a

a

a

b

b

b

in

to

for

from



